JL_

Examining Powers of Ten Name:
Solve each problem. Answers
1) 80,000 =80 2) 9454 = 945,400
—_— —_— 1.
2
3) 0.4359 =0.004359 4) =50
— — 3
4,
5) 800,000 =80 6) 7454 =7454
— — 5.
6.
7) 6.691 = 0.0006691 8) = 3,000
—_— —_— 7.
8.
9) 40,000 =400 10) 6.027 = 60.27
— — 9.
10.
11) 0.9306 = 0.09306 12) =90
—_— —_— 11.
12.
13) 70,000 =70 14) 84.27 =842.7
—_— —_— 13.
14.
15) 151.3 =15.13 16) = 950,000
B _ 15.
16.
17) 100 =10 18) 49.03 =490.3
—_— —_— 17.
18.
19) 9.917 =0.9917 20) =900
—_— —_— 19.
20.
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[ Math ] W CommonCoreSheets.com 1 11-20[45[40[35[30]25]20]15]10] 5 | 0




=

Examining Powers of Ten

Name:

Answer Key

Solve each problem. Answers
1) 80,000 +10° =80 2) 9454 x 10" =945,400 10°
1. -
2, x 10"
3 0.4359 +10% =0.004359 4) 5 x10* =50 102
3. -
4 x 10*
5 800,000 =~ 10* =80 6) 7454 x 10" =745.4 10
5. -
6. X 101
7) 6.691 + 10" =0.0006691 8 3 x10° =3,000 10
7. -
8. x 10°
9 40,000 +10% =400 10) 6.027 x 10* =60.27 102
9. -
10 x 10*
11) 0.9306 + 10" =0.09306 12) 9 x10' =90 1
11. - 10
12. X 101
13) 70,000 = 10° =70 14) 8427 x 10" =842.7 3
13. - 10
14, x 10"
15 151.3 = 10! =15.13 16) 95 x 10* = 950,000 1
15, +10
16. X 104
17) 100 = 10* =10 18) 49.03 x 10* =490.3 1
17. - 10
18. X 101
19) 9.917 + 10" =0.9917 20) 9 x10% =900 1
19. - 10
20. X 102
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